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We now average over all possible positions of B

(doing only the upper semicircle by symmetry):

Prob (O inside △ABC) =
1

π

∫ π

0

θ

2π
dθ =

1

4
.

(Try solving the 3-D problem in an analogous

fashion! Good luck!)

Approach (b) Try linear algebra (actually

“affine linear algebra”). We say the vectors

a,b, c ∈ R2 are affinely independent if

If xa+ yb+ zc = 0 and x+ y + z = 0,
then x = y = z = 0.

It is an easy exercise to check that

a,b, c are affinely independent
⇐⇒

(b− a), (c− a) are linearly independent.
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